HIREHEZ BBt (DF7HE78 =)

No. X % RF INTF HwE | BB |REIHE miE () ZEN ZEIEH
1)7a)1[#X mE NV Y 512-1 M S 351 wmA  |EE
2|P8EF - K& - RAIHX kg 3/ A 2466-1 M H 872md 5 ©9.92m BRoL |5
3|FEF - K& - RAIHX 7o 27 3/ A 2467-1 M H 285mM M 5 ©29.24m BRoL |5
4|1PEEF - K& - RAIHX kg 3/ A 2471 M H 472m a5 520.26m N EveE
5|PU%F - K& - RAIHX kg F /M 672 M H 1,361 A N EveE
6|Pu%F - K& - AKX 7o 27 F /M 709-3 M H 892 A N EveE
T|P%F - K& - RAIHX kg F /M 710 M H 740 N EveE
8| g - K& - AKX kg F /M 711 M H 849 A N EveE
9|FaEF - K& - REAIHX 7o 27 F /M 702-2 M H 56 A N EveE

10| % - K& - A X kg F /M 703 M H 119 N EveE

11| % - K& - RA X kg F /M 706 M H 393 A N EveE

12| % - KA - RFAHX kg F /M 707 M H 376 N EveE

13|AA% - K& - A X kg F /M 709-1 M H 680 N EveE

14|78% - K& - RAHX 727 F /M 709-2 M H 812 BRoL |5

15| % - K& - RAHX 7o 27 F /M 700-2 M H 749 A N EveE

16| EF X HEF v /A 1125-1 M H 1,658 BRAL |HREE

17|t X Rirh FHE 1568 8 = 323 BRo% [FEEMELHA

18|t X Rirh EHE 1571 8 = 950 BRo% |FEEMELHA
19t X RiEH ENE 1573 8 = 462 BRo% |FEEMELHA
20| E X Rirh EFHE 1574 8 = 894 BRo%  |FERMELHA
21| E X RiEH ENE 1575 i il 53 BRo% |FEEMELHA
22| E X RiEH ENE 1576 i il 249 BRo% |FEEMELHA
23| E X RiEH ENE 1577 i il a7 BRo% [FEEMELHA
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HIREHEZ BBt (DF7HE78 =)
No. X % RF INF HwE | BB |REIHE miE () ZEN ZEIEHR
24|t HEX kS FIHE 527-1 M H 481md 5 B277.87Tm N EveE
25|t HEX il SHE 536 M H 1,067 5 £459.51m BRoL |
26| & X ZNN] By 1682 i il 19 BRo%  |FERMELHA
27| &R HX ZNN] By 1690 i il 105 BRo%  |FEEMELHA
28| F#E X FHEL S 929-1 M = 314 BRo%  |FERMELHA
29|F 1L - BRH - FH) - HEA#X P 5 1724 i il 1,586 BRo% |FEEMELHA
30| ALl - BFH - T80 - HEA#X izl R 666 i il 353 BRo%  |FEEMELHA
31|ALL - #FFH - F8) - HE#X iz, R 673 i il 251 BRo%  |FERMELHA
32|FLl - FFH - ) - HEA#X iz, R 674 i il 102 BRo% |FEEMELHA
33| ALl - BFH - T - HEA#X izl R 679 i il 373 BRo%  |FEEMELHA
34|%&ZA)IN - #R)I - B - PEHX wZR A2 919-1 M H 247Tm?d 5 521.39m G e
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